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Negative Numbers Code Breaker
	a
	b
	c
	d
	e
	f
	g
	h
	i
	j
	k
	l
	m
	n
	o
	p
	q
	r
	s
	t
	u
	v
	w
	x
	y
	z

	-10
	-9
	-8
	-7
	-6
	-5
	-4
	-3
	-2
	-1
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15


The answers to the sums correspond to letters. Answer the question to find the letters and then the words.
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-3 6 0
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(-10 - - 8)





(7 – 2 - - 9)





(10 - 20)





(13 - 5)





(7.5 - 3.5)





(22 – 15)





(-14 - – 29)





(-3– + 3)





(-3 –  3)





(-6- – 3)





(10 - 1)





(-14 - – 7)





(15 – 22)





(11– +2)





(-14 - – 4)





(1– 4)





(15 – 3)





(-22 - - 16)





Complete the following pyramids by adding next door squares together to make the square above.








(10 - 1)





(-25 – - 16)





(11– + 17)





(2 – 4)





(-4 - + 4)





(-1 - - 2)





(-2 – - 5)





(11.34 –  2.34)





(-16 - - 10)





(10 - 14)





(1 - + 3)





(-6- – 3)





(3– 6)





(20 + – 11)





(15 – 21)





(1– - 3)





(15 – 6)
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